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&©e: sBC 2Y 483 (s2 NP2 HALY) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SEXHE H 2,930,609 2,364,845 565,764
EXNSX Y M4d(s3)eX 22 2,930,609 2,364,845 565,764
S2HA 2% 43 (sZ2XNRXILAY) 2,930,609 2,364,845 565,764
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04 JI2ZtH 22 XNEE 13,106 12,910 196
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69,7603 *5H x3U x2JH A~ x53] 10,464
OX&E2 ais(2Xgdy s) A
69,760 *3H x22 x2JH A x3 3] 2,512
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201 LEr2 Y| 71,500 59,300 12,200
01 At 22l Yl 28,100 25,900 2,200
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Oth+=2 Z=Z&&H gtz 6,600
— S 550,000 * 1CH *3 20 A 3,300
— gIZEdg 550,000 * 1CH #3204 A 3,300
02 3524l 43,400 33,400 10,000
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— B 300,000& x12& 3,600
Os3HHA AMEZ2 4782 =4
5,000,000& =44 4~ 20,000
206 M = Hl 3,000 3,000 0
01 = bl 3,000 3,000 0
O=s2 UMM, H=o &)
1,500,000& *2J4 A 3,000
307 QI2t0| ™ 151,635 151,635 0
05 22t E 2 151,635 151,635 0
Os3HA HaxHHeld e 22 29| 151,635
401 Al HI 2L 2 0HHI 191,368 138,000 53,368
01 A& HI 190,000 138,000 52,000
OsZ2CX A8 HE 20,000,000 #2001 2 40,000
Os2HX o B3 FHy|(14!) 20,000
O8Il AHX |4 AHH S0 =7 15,000
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